Bid #453-11532 - Barricade and Flasher Rental (Co-Op Annual Contract)

Start Date Dec 11, 2014 3:45:16 PM EST Awarded Date Not Yet Awarded

453-1153201- 01 Flasher Barricades, Type I					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.45	11090 / day	\$4,990.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$0.75	11090 / day	\$8,317.50	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bob's Barricades	First Offer - \$1.00	11090 / day	\$11,090.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 02 Flasher Barricades, Type II					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.45	16860 / day	\$7,587.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$0.50	16860 / day	\$8,430.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bob's Barricades	First Offer - \$1.60	16860 / day	\$26,976.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 03 Flasher Barricades, Type III					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.75	680 / day	\$510.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$1.00	680 / day	\$680.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bob's Barricades	First Offer - \$2.00	680 / day	\$1,360.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 04 Warning & Regulatory Signs						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
RoadSafe Traffic Systems	First Offer - \$0.70	5707 / day	\$3,994.90		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MOT Plans	First Offer - \$0.75	5707 / day	\$4,280.25		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Bob's Barricades	First Offer - \$1.00	5707 / day	\$5,707.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

453-1153201- 05 Tripod Stands					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.01	48 / day	\$0.48		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Bob's Barricades	First Offer - \$0.01	48 / day	\$0.48		Υ
Product Code:		Supplier Product (Code:	•	

Agency Notes:		Supplier Notes:		
RoadSafe Traffic Systems	First Offer - \$0.01	48 / day	\$0.48	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

453-1153201- 06 Sign Stands					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Bob's Barricades	First Offer - \$0.10	6169 / day	\$616.90		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MOT Plans	First Offer - \$0.25	6169 / day	\$1,542.25		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$0.25	6169 / day	\$1,542.25		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 07 Arrow Boards, Generator Powered						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Bob's Barricades	First Offer - \$20.00	250 / day	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
RoadSafe Traffic Systems	First Offer - \$20.00	250 / day	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MOT Plans	First Offer - \$30.00	250 / day	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

453-1153201- 08 Traffic Cones, 36 inch						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Bob's Barricades	First Offer - \$0.75	5342 / day	\$4,006.50		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MOT Plans	First Offer - \$1.00	5342 / day	\$5,342.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
RoadSafe Traffic Systems	First Offer - \$1.00	5342 / day	\$5,342.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

453-1153201- 09 Drums					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.35	650 / day	\$227.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$0.75	650 / day	\$487.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bob's Barricades	First Offer - \$1.60	650 / day	\$1,040.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 10 French Barricades						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Bob's Barricades	First Offer - \$5.00	6705 / day	\$33,525.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
MOT Plans	First Offer - \$6.00	6705 / day	\$40,230.00		Υ	
		Supplier Product Code: Supplier Notes:				
RoadSafe Traffic Systems	First Offer - \$8.00	6705 / day	\$53,640.00		Υ	

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

453-1153201- 11 Message Boards					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Bob's Barricades	First Offer - \$35.00	278 / day	\$9,730.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MOT Plans	First Offer - \$40.00	278 / day	\$11,120.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$40.00	278 / day	\$11,120.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 12 Traffic Barriers					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Bob's Barricades	First Offer - \$4.50	409 / day	\$1,840.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MOT Plans	First Offer - \$6.00	409 / day	\$2,454.00		Υ
		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$6.00	409 / day	\$2,454.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201- 13 Vertical Panels					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MOT Plans	First Offer - \$0.45	7795 / day	\$3,507.75		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
RoadSafe Traffic Systems	First Offer - \$0.75	7795 / day	\$5,846.25		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Bob's Barricades	First Offer - \$1.50	7795 / day	\$11,692.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

453-1153201-14 Barrier (Caution) Tape (300'Rolls)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Bob's Barricades	First Offer - \$4.00	535 / roll	\$2,140.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
MOT Plans	First Offer - \$4.98	535 / roll	\$2,664.30		Υ				
		Supplier Product (Supplier Notes:	Code:						
RoadSafe Traffic Systems	First Offer - \$5.00	535 / roll	\$2,675.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

453-1153201-15 Optional Set-up Service, Flasher Barricades 1-20										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
MOT Plans	First Offer - \$30.00	193 / lot	\$5,790.00		Υ					
		Supplier Product Supplier Notes:	Code:							
Bob's Barricades	First Offer - \$30.00	193 / lot	\$5,790.00		Υ					
		Supplier Product Code: Supplier Notes:								
RoadSafe Traffic Systems	First Offer - \$40.00	193 / lot	\$7,720.00		Υ					
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:							

453-1153201-16 Optional Set-up Services, Flasher Barricades 21-50									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MOT Plans	First Offer - \$35.00	150 / lot	\$5,250.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Bob's Barricades	First Offer - \$40.00	150 / lot	\$6,000.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
RoadSafe Traffic Systems	First Offer - \$50.00	150 / lot	\$7,500.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

453-1153201-17 Optional Set-up services, Flasher Barricades 51-100									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MOT Plans	First Offer - \$40.00	75 / lot	\$3,000.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Bob's Barricades	First Offer - \$75.00	75 / lot	\$5,625.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:						
RoadSafe Traffic Systems	First Offer - \$100.00	75 / lot	\$7,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:						

453-1153201-18 Optional Set-up Services, Flasher Barricades Over 100									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MOT Plans	First Offer - \$100.00	25 / lot	\$2,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Bob's Barricades	First Offer - \$100.00	25 / lot	\$2,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:						
RoadSafe Traffic Systems	First Offer - \$100.00	25 / lot	\$2,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:						

453-1153201- 19 Optional Set -up Services, Signs 1-10									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
RoadSafe Traffic Systems	First Offer - \$30.00	50 / lot	\$1,500.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
MOT Plans	First Offer - \$45.00	50 / lot	\$2,250.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Bob's Barricades	First Offer - \$50.00	50 / lot	\$2,500.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

453-1153201- 20 Optional Set -up Services, Signs Over 10								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MOT Plans	First Offer - \$27.00	25 / lot	\$675.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Bob's Barricades	First Offer - \$50.00	25 / lot	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
RoadSafe Traffic Systems	First Offer - \$50.00	25 / lot	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

453-1153201- 21 Lane Closure						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
MOT Plans	First Offer - \$200.00	10 / lot	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RoadSafe Traffic Systems	First Offer - \$200.00	10 / lot	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Bob's Barricades	First Offer - \$275.00	10 / lot	\$2,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

453-1153201-22 Optional Services, MOT Drawing/Permit									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
MOT Plans	First Offer - \$25.00	192 / each	\$4,800.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
Bob's Barricades	First Offer - \$50.00	192 / each	\$9,600.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						
RoadSafe Traffic Systems	First Offer - \$75.00	192 / each	\$14,400.00		Υ				
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:						

453-1153201-23 Optional Services, Site Visit								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MOT Plans	First Offer - \$5.00	30 / each	\$150.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Bob's Barricades	First Offer - \$25.00	30 / each	\$750.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RoadSafe Traffic Systems	First Offer - \$50.00	30 / each	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					

Supplier Totals

MOT Plans			\$118,371.03	(23/23 items)
Bid Contact	Mark Meyers mark@motplans.com Ph 954-560- 0450 Fax 954-759-9186		631 NE 45 Street Oakland Park, FL 33334	
Qualifications	DBE DBE MBE SB			
Agency Notes:		Supplier I	Notes:	
Bob's Barri	cades		\$151,489.88	(23/23 items)
	Jonathan Elbert jelbert@bobsbarricades.com Ph 954-423- 2627		21 Shotgun Road Sunrise, FL 33326	
Agency Note	es:	Supplier N	lotes:	
RoadSafe T	raffic Systems		\$155,399.88	(23/23 items)
	Sandi Parisian tfoskolos@roadsafetraffic.com Ph 305-633- 3883		365 NE 119th Street Niami, FL 33161	
Agency Note	es:	Supplier N	otes:	

* *